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table_it() additional insurance examples

Coding: Vertical (simple) insurance table example
<:let row_header=[‘’]:>

<:let row1=[‘Policy Owner’]:>

<:let row2=[‘Policy Number’]:>

<:let row3l=[‘Life Cover’]:>

<:let row3d=[‘TPD Cover’]:>

<:let row3t=[‘Trauma Cover’]:>

<:let row3i=[‘Income Protection’]:>

<:let row4=[‘Annual Premium’]:>

<:let row5=[‘’]:> 

<:let totalpm=0.0:>

<:for item in $client.insurance_by_cover.filter(‘policy_status=Inforce’).sort(‘coy’):>

<:=row_header.append(str(item.coy.text)+’ - ‘+str(item.plan_name)):>

<:=row1.append(str(item.policy_owners)):>

<:=row2.append(str(item.policy_number)):>

<:if item.has_cover(‘l’):><:=row3l.append(currency(item.life_sum_insured.value, 0, has_symbol=1)):><:else:><:=row3l.append(‘ - ‘):><:end:>

<:if item.has_cover(‘d’):><:=row3d.append(currency(item.tpd_sum_insured.value, 0, has_symbol=1)):><:else:><:=row3d.append(‘ - ‘):><:end:>

<:if item.has_cover(‘t’):><:=row3t.append(currency(item.trauma_sum_insured.value, 0, has_symbol=1)):><:else:><:=row3t.append(‘ - ‘):><:end:>

<:if item.has_cover(‘i’):>

<:if len(item.covers(‘i’))>1:>

<:for item2 in item.covers(‘i’):>

<:let totalpm=totalpm+(float(item2.benefit_amount.value*item2.benefit_frequency.value)/12):>

<:end:>

<:=row3i.append(str(currency(totalpm, 0, has_symbol=1))+’ pm’):>

<:else:>

<:=row3i.append(currency(float(item.covers(‘i’)[0].benefit_amount.value*item.covers(‘i’)[0].benefit_frequency.value)/12,0, has_symbol=1)+’ pm’):>

<:end:>

<:else:>

<:=row3i.append(‘ - ‘):>

<:end:>

<:=row4.append(currency(float(item.benefit_premium.value*item.frequency.value), 2, has_symbol=1)):>

<:=row5.append(‘’):>

<:end:>

<:let tabledata=[row_header, row1, row2, row3l, row3d, row3t, row3i, row4, row5]:>

<:=table_it(tabledata, ‘WC Blue Steel V2’):>

Output: Vertical (simple) insurance table 
	
	CommInsure - Protection – Income Care
	OnePath - OneCare – Life Cover & TPD & Trauma Comp.
	OnePath - OneCare – Life Cover & TPD & Trauma Comp.
	MLC Limited - Insurance Super or Wrap – Life Cover & TPD & Connected Critical Illness Plus

	Policy Owner
	Citizen, Johnny
	Citizen, Johnny
	Citizen, Johnny
	Citizen, Johnny & Citizen, Jane

	Policy Number
	CITI234558
	OPCJ092092
	Unknown
	Unknown

	Life Cover
	- 
	$250,000
	$200,000
	$200,000

	TPD Cover
	- 
	$250,000
	$100,000
	$200,000

	Trauma Cover
	- 
	$50,000
	$50,000
	$55,000

	Income Protection
	$4,500 pm
	- 
	- 
	$4,000 pm

	Annual Premium
	$738.36
	$89.88
	$315.00
	$401.16

	
	
	
	
	


Coding: Horizontal (simple) insurance table example

<:for item in $client.insurance_by_cover.filter(‘policy_status=Inforce’).sort(‘coy’):>

<:let row1=[‘Policy Owner’]:><:let row2=[‘Policy Number’]:><:let row3l=[‘Life Cover’]:><:let row3d=[‘TPD Cover’]:><:let row3t=[‘Trauma Cover’]:><:let row3i=[‘Income Protection’]:><:let row4=[‘Annual Premium’]:><:let row5=[‘’]:><:let totalpm=0.0:><:let row_header=[{‘text’:str(item.coy.text)+’ - ‘+str(item.plan_name), ‘colspan’:2}]:><:=row1.append(str(item.policy_owners)):><:=row2.append(str(item.policy_number)):><:if item.has_cover(‘l’):><:=row3l.append(currency(item.life_sum_insured.value, 0, has_symbol=1)):><:else:><:=row3l.append(‘ - ‘):><:end:><:if item.has_cover(‘d’):><:=row3d.append(currency(item.tpd_sum_insured.value, 0, has_symbol=1)):><:else:><:=row3d.append(‘ - ‘):><:end:><:if item.has_cover(‘t’):><:=row3t.append(currency(item.trauma_sum_insured.value, 0, has_symbol=1)):><:else:><:=row3t.append(‘ - ‘):><:end:><:if item.has_cover(‘i’):><:if len(item.covers(‘i’))>1:><:for item2 in item.covers(‘i’):><:let totalpm=totalpm+(float(item2.benefit_amount.value*item2.benefit_frequency.value)/12):><:end:><:=row3i.append(str(currency(totalpm, 0, has_symbol=1))+’ pm’):><:else:><:=row3i.append(currency(float(item.covers(‘i’)[0].benefit_amount.value*item.covers(‘i’)[0].benefit_frequency.value)/12,0, has_symbol=1)+’ pm’):><:end:><:else:><:=row3i.append(‘ - ‘):><:end:><:=row4.append(currency(float(item.benefit_premium.value*item.frequency.value), 2, has_symbol=1)):><:=row5.append(‘’):><:let tabledata=[row_header, row1, row2, row3l, row3d, row3t, row3i, row4, row5]:><:=table_it(tabledata, ‘WC Blue Steel V2’):>

<:end:>

Output: Horizontal (simple) insurance table 
	OnePath - OneCare – Life Cover & TPD & Trauma Comp.

	Policy Owner
	Citizen, Johnny

	Policy Number
	UNKNOWN

	Life Cover
	$200,000

	TPD Cover
	$100,000

	Trauma Cover
	$50,000

	Income Protection
	- 

	Annual Premium
	$315.00

	
	


	MLC Limited - Insurance Super or Wrap – Life Cover & TPD & Connected Critical Illness Plus

	Policy Owner
	Citizen, Johnny & Citizen, Jane

	Policy Number
	UNKNOWN

	Life Cover
	$200,000

	TPD Cover
	$200,000

	Trauma Cover
	$55,000

	Income Protection
	$4,000 pm

	Annual Premium
	$401.16

	
	


